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Magnetic  Separation Circuit

From a report by Hazen Research Inc to the USGS
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From a report by Hazen Research, Inc. to the USGS.



Crushing Circuit
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Flotation Circuit
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Jar of NU-LHT

Segregation in simulant due toSegregation in simulant due to 
handling.  Note the complex 
layering which indicates 
multiple episodes of sorting and p p g
probably multiple controlling 
factors.

Photo from report by Intellection
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Simple Cost Example, part 1

Th i t i t k t t 100’ 100’ fill d 3The requirement is to make a test area 100’ x 100’ filled 3 
feet deep using whatever is locally used as road fill. 

Conversion factors and handy approximations
1 ft3 = 0.0283m3 = 28,300cm3

1 lb = 0 45 kg1 lb  0.45 kg 
The regolith weighs approximately 1.6  g/cm3

Simulant weight/volume
45 3 k /ft3 100 lb/ft345.3 kg/ft3 = 100 lb/ft3
1 m3 = 1,600 kg      
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Simple Cost Example, part 2

Local bulk rock for road fill is  ~$10/ton (English).
Haul cost for local material is ~ $10/ton (English)

Volume - 30,000 ft3
Weight per volume - 100 lb/ ft3 e g pe o u e 00 b/ 3
Unit conversion - 2000 lb/ton
Cost per ton - $20/ton  
Total weight 1 500 tonsTotal weight - 1,500 tons
Final cost - $30,000

Notes:
Road fill is not sized and is very coarse.  
The cost of distributing the rock once it is dumped is 
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g p
not included.


